
1

                                       mm

                                       mm                                       mm

2 3

zoomSEAT Ibiza Sportcoupè 3P (2008>) 108 mm 126 mm

10                                       Nm

                                       mm

                                       mm

                                       mm

                                       mm

9  A

 B

 C

68.035 "Acciaio / Steel"

ISTRUZIONI DI MONTAGGIO
FITTING INSTRUCTION

SEAT Ibiza Sportcoupè 3P (2008>) R

M6x14

F

FR
R

F

F

M6x14

FR

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

8

                                     6X45 mm

                                     Ø 6X18  mm

19

R
EV

. 0
2

C
O

D
. A

O
.3

01
/ A

C
C

Max 50 Kg / 110 lb

COD.

  AO.491 10



4
 A

 B

 6
                                       =                                        =

 7

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5

SEAT Ibiza Sportcoupè 3P (2008>) F

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

                                     6X45 mm

                                     Ø 6X18  mm

05

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

                                     Ø 6X18  mm

                                     6X14 mm



1

                                       mm

                                       mm                                       mm

2 3

zoom

10                                       Nm

A
B C

9 

68.035
ISTRUZIONI DI MONTAGGIO

FITTING INSTRUCTION
"Alluminio / Aluminium"

SEAT Ibiza Sportcoupè 3P (2008>) 108 mm 126 mm

SEAT Ibiza Sportcoupè 3P (2008>) R

M6x14

F

FR
R

F

F

M6x14

FR

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

8

                                     6X45 mm

                                     Ø 6X18  mm

19

R
EV

. 0
2

C
O

D
. A

O
.3

01
 / 

A
LLMax 50 Kg / 110 lb

COD.

  AO.491 10



 4
 A

 B

 6
                                       =                                        =

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5

 7
SEAT Ibiza Sportcoupè 3P (2008>) F

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

                                     6X45 mm

                                     Ø 6X18  mm

05

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

                                     Ø 6X18  mm

                                     6X14 mm


	Istruzione Pacific 35AC.pdf
	Istruzione Pacific 35AL.pdf

